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1. EBETHEZERA BEIEICEIIZIAER
OR2/EEI VN 30, 000 100, 000 70, 000 |#4¥05 MNE UR A fth
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QO IRA 0 0 0| ZDHhDULA
INET 6 10 4
LERA S E (A 2,166,006 | 3,700,010 1,534,004
AR RIR T =48 -554, 318 60, 486 614, 804
IR A2 A5 (B) 1,611,688 | 3,760,496 2,148, 808
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DFEEEXH 200, 000 200, 000 0| EXFHEIIRESHER
QEMEXZH 150, 000 150, 000 0| BEREEE A
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@H: hf = 2 S H 0 200, 000 200000|HHhRE X F(ICBI T 2 E
OHEFEHFRELREIH 0 0 OHFEH3E
@HEEREXH 20, 000 60, 000 40000 ;& %E &
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QEEHZH 400, 000 400, 000 OMEEHEXH
5T 10, 000 30, 000 20000|HEEL %
OBEEXH 0 100, 000 100000 {E#ZE DT H
G@EEERESRH 10, 000 12, 000 2000\ EXEMEHEERE
DEERETH 15, 000 20, 000 5000 ;HEEREREEBRAR BREY)
@ H 15, 000 20, 000 5000 EBLGEDERE. BER
OFILFHH I H 8, 000 10, 000 2000 $LICEAND FHHEREXZ L
OBEHRAFEXH 80, 000 70, 000 A 10000 FN#Kth T £ BIREEE A
WEEEFEXH 0 0 OlFERER-#HEREHENEIETH
EXIHEEE B 538, 000 782, 000 244,000
LEARHAE (0) 1,858,000 | 2 992,000 1,134,000
LAY % 2= 48 (A-C) 308, 006 708, 010 400, 004
R #RHRIR 37 = %8 (D=B-C) -246, 312 768, 496 1,014, 808
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